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2020
ENVIRONMENTAL ENGINEERING

Frufia awg . fim w2 [3tftrpam 37 : 70
Time allowed : Three Hours] [Maximum Marks : 70

Fe: (i) ¥ I AT 8, 99§ 3l ola & IR A/
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i) X% F97 & T 911 F1 FHGR 0F G1Y 8T FHAd |
Solve all parts of a question consecutively together.
(iii) NI J¥T B} 79 Y8 & I Fod |
Start each question on fresh page.
(iv) g 919137 7 3R &7 1 Rl 7 33 sgare @ a7 # |

Only English version is valid in case of difference in both the languages.

. (1) ateter s sftfam 2

(a) 1981 (b) 1972

(c) 1978 (d) ¥ & ié T

The Environmental Protection Act is

(a) 1981 (b) 1972

(c) 1978 (d) None of these
(2) T=Hd ¥ @ - W B R

(a) 10dB-20dB (b) 30dB-40dB

(c) 60dB-70dB (d 110dB-120dB

Sound level range in library

(a) 10dB-20dB (b) 30dB-40dB

(c) 60dB-70dB (d) 110dB-120dB
(3) g wguv i Teparm 7 Frmr rferform

(a) 1965 (b) 1981

(c) 1978 (d) THAFETE

Air Pollution Prevention and Control Act

(a) 1965 (b) 1981

(c) 1978 (d) None of these

(10f 8) P.T.O.
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& e e 2 i T 3w i s e R 7

(a) WEEIEATHT (b) &I ARG

(c) EETH (d) Fr=EeE

Which of the following terms of land degradation is more prevalent in India ?
(a) Desertification (b) Soil erosion

(¢) Landslide (d) Soil subsidence

frafafea § @ 9% a1 99 wafRa s ad @i R ¢
(a) & R ol FerE FH A R |

(b) = HANEH T T H E |

(c) o e feremma &a W &td € |

(d) A HE T

Which of the following statement about forest is not correct ?
(a) Forests reduces soil erosion. '

(b) Forests provides recreational opportunities.

(c) Provides a source of economic development.

(d) None of the above

Fraferfaa & & sdt d dvs-aw S T § WgRU 1 JYHaH B R

(a) AT (b) HIEHRE

(c) dRRwEm (d) wrfE g

Which of following nutrients in fertilizer has the least source of pollution in
water ?

(a) Nitrogen (b) Phosphorous

(c) Potassium (d) Organic matters

frafafea 3 & 9 srfteran wafaw swEa R R 7

(a) TETEfS T T HievE H =@
(b) AT T HTETHH I BT TAM
(c) e I T Fepfoys Fie Fazo Igam
(d) vETEfE I8 T Iwfers die o wam

Which of the following is the most environmentally friendly agriculture ?
(a) Use of chemical fertilizers and insecticides.

(b) Use of insecticides and organic fertilizers.

(c) Use of organic fertilizers and alternate methods for insect control.
(d) Use of chemical fertilizers and alternate methods for insect control.
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®) fm= 33 N-3rer ot a5 ygarfie

(a) HRE (b) $uA B
(c) vad KAt (d) @O ufE
Identify the non-renewable source of energy from the following :
(@) Coal (b) Fuel cells
(¢) Wind power (d) Wave power
9) e e ot wra g e wfy gt 2
(a) At wgyw (b) 3= Frvem e
(c) 3= V=T AT (@) sfreaea smff
Which of the following is a disadvantage of most of the renewable energy
source ?
(a) High polluting (b) High dispersal cost
(¢) High running cost (d) Unreliable supply
(10) T3 % & %7 s gu & iy vam & srftres yafoa i @ 2
(a) HEEIEAIH (b) SEEEH
() ¥fawem (&) I wh
Which of the following terms of land degradation is not prevalent in India ?
(a) Desertification (b) Land-slide
(c) Soil subsidence (d) All above
(11) wrifRufeeht da & ot # & ¥ o seames @ 7
(a) SHS (®) W
(c) vt (d) THaHEAE
Which of the following is a possible producer in an ecosystem ?
(a) Animals (b) Human beings
(c) Fish (d) None of the above
(12) TR I8 ¥ A TSI 1 TE T FeI9E B
(a) WEEIR (b) arFHEHA
(c) wEERIER (d) Sfarem $u=
The largest reservoir of nitrogen on our planet is
(a) Oceans (b) Atmosphere
(c) Biosphere (d) Fossil fuels

P.T.O.
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s weftg arifRafeehl @ 3 aes e JE T R

(a) YN (b) ITEH

(c) uf%s (d) wEd T I
In an aquatic ecosystem phytoplankton can be considered as
(a) Consumer (b) Producer

(c) Saprotrophic (d) Macro consumer
feaidsRmag st ?

(a) ATEZIH (b) A HAETES
(c) e BTE-HTFETES (d) ffafoE

Which of the following is an air pollutant ?

(a) Nitrogen (b) Carbon monoxide
(c) Carbon dioxide (d) Oxygen

qui-

(a) TTEH (b) gu T HE &z
(c) sepfer T (4 T - T
Smog is

(a) colourless (b) acombination of smoke and fog
(¢) anatural phenomenon (d) carbon dioxide
FAreraTse § & a1 wgww 1 Fafia e s w2

(a) TRrdga el ~ (b) =haa faves

(c) IO TiEds (d) IS H WS

Air pollution from automobile can be controlled by filling
(a) Electrostatic precipitator

(b) Cyclone separator

(c) Catalytic converter

(d) Fabric filler

(17) wirTse it 9 9 ot § srftreram wfierd arsar g &

(a) 1.0 foreft o wfe Sfex (b) 1.25 foeft o wfer sfiex
(¢) 1.5 fureft o wfer sfex (d) 1.75 Toreft 7 wfy sfiex

What is the maximum allowable concentration of fluorides in drinking water ?
(a) 1.0 milligram per liter (b) 1.25 milligram per liter
(¢) 1.5 milligram per liter (d) 1.75 milligram per liter
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3 Iy gt F weirge ) rfremar & Fre ) e @ 9t R
(a) A (b) At e
(c) vRRIfEE (d) YT ERg
Excess fluoride in drinking water is likely to cause
(a) Blue babies (b) Internal irritation
(¢) Fluorosis (d) Taste & odour
-
(a) I=@EM (b) Haifesa w@fx
(c) FRrwaf @) = et @l
Noise is
(a) loud sound (b) unwanted sound
(c) constant sound (d) sound of high frequency
g g Affram sy gan
(a) 1972 (b) 1978
(c) 1986 (d) 1980
The Forest Conservation Act came in force from
(@ 1972 (b) 1978
(c) 1986 (d) 1980
(21) gfrmRr # srefia aui w1 IR SR @
(a) T TTE-HTFETEE (b) ISH
(c) HrEA AHEETES (d) HeHt TE-ATETEE
Primary cause of acid rain around the world is
(a) Carbon dioxide (b) Ozone
(¢) Carbon monoxide (d) Sulphur dioxide
A F R fEiasRa s ad e ?

(22)

(a) 3 B THEM TEEH arel gd @ 3 et UV fafem @ i
(b) IS e TETE Yy % e g R |

(c) 3 rcafirs wfaframsfiar 2 |

(d) ITEw TR

Which of the following statement about ozone is true ?

(a) Ozone protect us from harmful UV radiation of sun.
(b) Ozone is a major constituent of photochemical smog.
(¢) Ozone is highly reactive.

(d) All of the above

P.T.O.
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(23) WATER A a8 (Wa) & famme & fore ¥ a1 g v seerft 2 2

(24)

(25)

(26)

27

(a) AT (b) Hiuwd
(c) e STE-ATHETES @ e

Which major compound responsible for the destruction of stratosphere ozone
layer ?

(@) Oxygen (b) CFC

(c) Carbon dioxide (d) Methane

fafafea 4 @ 917 @t fia-gea e i 2 7

(a) HTafto= (b) frm

(c) HTEA TTE-HTaaTss (d) ETEY TR FrET
Which of the following is not green house gas ?

(a) Oxygen (b) Methane

(c) Carbon dioxide (d) Hydro chlorofluoro carbon
WA § Som Y yateo s sttty yeafia gan

(a) Ut sfefm (b) oy AfufEm

(c) vatawor sfufmm (d) & vgyor rfufm

First of the major Environmental Protection Act to be promulgated in India was
(a) The Water Act (b) The Air Act

(¢) The Environment Act (d) Noise Pollution Act
a3 g aftea e wear

(a) weaTgd (b) W g

(c) & weet W2 (d) I # & H§ T
Average life expectancy around the world is currently

(a) Decreasing (b) Increasing

(¢) No changing (d) None of above

frfefa & @ #17 w wwen seen 3fy @ safa 7@ 2 ¢

(a) @A i @a A gfg (b) wETERT g

(c) WIH a FHarl Y et (d) T @i TE

Which of the following is a probJem not associated with population growth ?
(a) Increased resource consumptions

(b) Environment pollution

(c) Food and energy shortage
(d) None of the above
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(29)

(7 of 8)
(28) = % @+ wvEa: HIV yaf@ 8 Tdi 2an @ 2
(a) I S G HEAT (b) TWAIH
(c) TaE-3NYUH /T @M (d) TS H FEAl
HIV is not likely to be transmitted by which of the following ?
(a) Sharing needles (b) Breast feeding
(c) Blood transfusion (d) Mosquito bites
WTE 2 8 IRER Hedmr HR%T HT IqE 329 7
(a) T FeEm (b) EE gfg & fram
(c) TSFTR §oH (d) I & HIg TE
The major objective of family welfare programme in India is
(a) Disease control (b) Population growth rate control

(c) Employment generation (d) None of the above

(30) 91 F ot & e 3| I g wn Y R 1S1 weer @ -
(a) 500 & S4TET (b) 500 ¥ HH
(c) 10008 FH (d) 1000 & ST
ISI recommended permissible limits for total solids in drinkable water
(a) more than 500 (b) less than 500
(c) less than 1000 (d) more than 1000
fr=fefaa =t HHATST :
Explain the following :
(i) e
Insecticide
(ii) 3T
Fresh water
(iii) SEUEEA T FeHtHTT
Global warming
(iv) SgSEw
Air pollution
(v) 2ftEe dumn
Decibel scale
() iRt a & ageifie eyl %! eaemsy |

(i1)

Explain about the communities relationship in an eco-system.

FAEEAT 9 TG % TTH! o) TN T YT Bl FHATIT |

Explain about the factors of population and wars affecting the environment.

323

(1x30)

(2x5)

(5+5)
P.T.O.
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TITERYT & A9 HIATIR F Ig F THE(FHRF) FH) GHHTIT |

Explain about the factors affecting insecticide and wars to environment.

Y& T % ITEHIHS HIIH! ! G |

Explain about the remedial measures of fresh water. (5+5)

Y& I R g I sftenfires 3 wte] wreEl % favda wEl @t gweme |

Explain about the adverse effects of domestic and industrial effluents on fresh
water,

Y Ygev & FR! H FHHT |
Explain about the sources of Noise pollution. (5+5)

&t wgywr i ferega o g@emC |

Explain in detail the Noise Pollution.

Wi g 3 wTEl Y T |
Explain about the effects of land pollution. (5+5)

it farfeon % watearoia s gt wwemu |

Explain about environmental impact assessment of nuclear radiation.

Y-RITH T FAI I HT§ F TS T IWTE F FIT |

Explain the effect on environment of the land-sliding and deforestation. (5+5)

JATERYT FRET & oAl & N-qarTa wat o\t o foqoft Hifv |

Write short note on — non-conventional sources of energy in environment
protection.

g weuvT A HAfufm @t wmgms |
Explain about the law of Air Pollution Prevention Act. (5+5)

gt wrar ifufam gr sgwe % frafia w0 ®) e |
Explain about to control pollution by Environmental Protection Act.
S FETGAT 3 T § G@H 1 T4 TINTE Y GHET |

Explain about recharging and drying of water resources effect on the environment.
(5+5)




